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1. Answer the questions beneath the following right triangle.

a

b c

θ

φ

1a. In terms of a and b, c = .

1b. In terms of a and c, b = .

1c. In terms of b and c, a = .

1d. In terms of a; b and c, sin � = .

1e. In terms of a; b and c, cos � = .

1e. In terms of a; b and c, tan � = .

1f. In terms of a; b and c, sin� = .

1g. In terms of a; b and c, cos� = .

1h. In terms of a; b and c, tan� = .



2. The two sides of a right triangle are 3 m and 4 m long, how long is the hy-
potenuse? Draw a picture of the resulting triangle labeling the sides.

3. One of the angles of a right triangle is 60�. The side opposite it is 1 m long.
Draw a �gure labeling this angle and the opposite side that's 1 m long. Then
�nd and label the length of the side adjacent to the angle and the length of the
hypotenuse. (Hint: sin 60� =

p
3=2; cos 60� = 1=2; tan60� =

p
3.)


